3.005+6.12 =

15.98 + 26.314 =
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1 mark
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16.4+7.18 =

5.09+274 =
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1 mark

1 mark
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876 + 543 - 198 =

6-5.738=
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1 mark

1 mark
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4-115=

7,624 — 931 - 87 =
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1 mark

1 mark
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10.

36.4 -27.8 =

20-4x2=
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1 mark

1 mark
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11. 3468
X b 2
2 marks
12. 8 & 132
X 8 6
Show
your
method
2 marks
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13.

14.

4781
X 23
Show
your
method
2 marks
15%x6.1=
1 mark
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15.

6574

Show
your
method

2 marks
16. 3 ?IB 8 &
Show
your
method
2 marks
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17 8 3|8 0 5 1

Show
your
method

2 marks

18.

97188 27

Show
your
method

2 marks
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19| 5922 4 2

Show
your
method

2 marks

20.| 291725

Show
your
method

2 marks
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Mark schemes

1 9.125
[1]
2. 42.294
(1]
23.58
3.
[1]
32.49
4,
(1]
1221
S.
[1]
0.262
6.
(1]
7. 2.85
[1]
6606
8.
(1]
8.6
9.
(1]
12
10.
Commentary: Pupils are expected to use their knowledge of the order of operations to carry out
calculations involving the four operations (6C9) in this case to evaluate 4 x 2 first and then to
subtract that product from 20.
(1]
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11.

Award TWO marks for the correct answer of 215,016

If the answer is incorrect, award ONE mark for the formal method of long
multiplication with no more than ONE arithmetic error, e.qg.

. 3468
X 62
6936
208080
214016 (error)

OR

. 3468

X 62
6934 (error)

208080

215014

Working must be carried through to reach a final answer for the
award of ONE mark.

Do not award any marks if the error is in the place value, e.g. the
omission of the zero when multiplying by tens:
3468
x__ 62
6936
20808 (place value error)
27744
Upto2m

[2]
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12.

Award TWO marks for the correct answer of 465,518

If the answer is incorrect, award ONE mark for the formal method of long multiplication with no
more than ONE arithmetic error, e.g.

5413

X 86

32478

433040
465438 (error)

OR

5413

% 86

32478
423040 (error)

455518

Working must be carried through to reach a final answer for the
award of ONE mark.

Do not award any marks if the error is in the place value, e.g. the
omission of the zero when multiplying by tens:

5413

% 86

32478
43304 (place value error)

75782

Upto2m

[2]
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13.

14.

Award TWO marks for the correct answer of 109,963

If the answer is incorrect, award ONE mark for a formal method of long multiplication with no
more than ONE arithmetical error, e.g.

. 4781
X 23
14343
95620
209963 (error)

OR
. 4781
x _ 23
14343
95630 (error)
109973
Working must be carried through to reach a final answer for the
award of ONE mark.
Do not award any marks if the error is in the place value, e.g. the
omission of the zero when multiplying by tens:
4781
x__23
14343
9562 (place value error)
23905
Upto2m
(2]
915

[1]
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15.

Award TWO marks for the correct answer of 203,794
If the answer is incorrect, award ONE mark for the formal method of long multiplication with no
more than ONE arithmetical error,
e.g.
. 6574
X 31
6574
143790 (error)
150364

OR
. 6574
X 31
6574
197220
193794 (error)

Working must be carried through to reach a final answer for the
award of ONE mark.

Do not award any marks if the error is in the place value, e.g. the
omission of the zero when multiplying by tens:

6574
X 31
6574
19722 (place value error)
26296
Upto2m

(2]
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16.

Award TWO marks for the correct answer of 24

If the answer is incorrect, award ONE mark for the formal methods of division with no
more than ONE arithmetic error, i.e.

. long division algorithm, e.g.

23r29
37| 888
— 740

140 (error)

<o 41
29

OR

42 (error)

37888
- 740
148

- 148
0

. short divisio

20 = 37

4 x 37

n algorithm, e.g.

2 3 127 (error)
37|8g"'s

Working must be carried through to reach a final answer for the
award of ONE mark.

Short division methods must be supported by evidence of
appropriate carrying figures to indicate the use of a division

algorithm, and be a complete method. The carrying figure must be
less than the divisor.

Upto2m
(2]

Hutton Rudby Primary School Page 16 of 20



17.

Award TWO marks for the correct answer of 97

If the answer is incorrect, award ONE mark for the formal methods of division with no

more than ONE arithmetic error, i.e.

. long division algorithm, e.g.

96 g2
83[ 8051
— 7470

580 (error)
~ 498

82

OR

47 (error)
83| BO51
— 4150 50 = 83
3901
- 3320 40 = 83
581
581 7 x B3

0

. short division algorithm, e.g.

9 6173

83| 8051 (error)

Working must be carried through to reach a final answer for the

award of ONE mark.

Short division methods must be supported by evidence of
appropriate carrying figures to indicate the use of a division
algorithm, and be a complete method. The carrying figure must be

less than the divisor.

Hutton Rudby Primary School

[2]
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Award TWO marks for the correct answer of 91

If the answer is incorrect, award ONE mark for the formal methods of division with no more than
ONE arithmetic error, i.e.

. long division algorithm, e.g.

81 (erron)
97| 8827
- 8730

97
- 97

0

OR

91 r2
97| 8827
- 7760 80 x 97
1069 (error
- 970 10 x 97
99
- a7 1x97

2

Working must be carried through to reach a final answer for the
award of ONE mark.

Sometimes an error in calculation leads to a remainder which
equals the truncated decimal equivalent. In such cases when the
remainder is expressed as a decimal, evidence of working leading

to the decimal must be seen in order to condone the possible
notation error.

short division algorithm, e.g.

7 1 (error)
97[ 88277

Short division methods must be supported by evidence of
appropriate carrying figures to indicate the use of a division
algorithm, and be a complete method. The carrying figure must be
less than the divisor.
Upto2m

(2]
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19.

Award TWO marks for the correct answer of 38

If the answer is incorrect, award ONE mark for a formal method of division with no more than

ONE arithmetic error, i.e.
. long division algorithm, e.g.

38r2
08| 2242
~ 1770 (30 x 59)
474 (error)
- 472 (8 x 59)
2

OR

35 (error)
50| 2242
~ 1770 (30 x 59)
472
- 472 (8 x 59)
0

. short division algorithm, e.g.

3 7rd48 (error)

59] 22472

Working must be carried through to reach a final answer for the
award of ONE mark.

Short division methods must be supported by evidence of
appropriate carrying figures to indicate the use of a division
algorithm, and be a complete method. The carrying figure must be
less than the divisor.

Hutton Rudby Primary School

[2]
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20.

Award TWO marks for the correct answer of 25
If the answer is incorrect, award ONE mark for the formal methods of division with no more than

ONE arithmetical error, i.e.

252
291725

_ 280 (20 x 29)
145

116
— —(error) (4 x 29
311’ ) ( )

_8 (1 x 29)

2

OR

24
29 errar
725"

145 (@x29)
_ M 5409
0
* short division algorithm, e.qg.
Working must be carried through to reach a final answer for the

award of ONE mark.

2 6 (errar)
29|72'%5

Short division methods must be supported by evidence of
appropriate carrying figures to indicate the use of a division
algorithm, and be a complete method. The carrying figure must be

less than the divisor.
Up to2m

[2]
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